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N.B. : (1) All questions are compulsory M g S
(2) Figures to the brackets to the right indicate marks. « s £
Q1. (A) State Whether True or False: (Any Eight) : ' , (8) .
1. A callable bond pays an investor a higher coupon than a non- callable bond.
2. Effective duration is a duration calculation for bond that have embedded options
3. A put provision in a debt issue allows investors to redeem debt prior to maturity
4. The "duration" of an interest-bearing bond is less than its maturity
5. Leading indicators can forecast the future movements ofa country s economy.
6. Aggressive portfolio has low risk. ~ - ~
- 7. Yield and Price have direct relationship.
8.

Debt securities bought at a discount to their face value ‘generally pay interest at floating rate.

9. A bond's rating indicates its interest-rate risk -
10. Bond with put option gives a bond i 1ssuer the rlght but not the obhgatlon

Q1 (B) Match the Following Columns: (Any 7) SER 3 RS (7)
Column A S : Column B
. Market Risk = s vMeasure of'i 1nterest rate sensitivity
. Convertible security b. Standard deviation of the difference between the return of a
. Bond immunization - fund/index and its benchmark index

Interest rate anticipation strategy
Strategy used to minimise interest rate risk
* Price sensitivity of a fixed income security in monetary terms
Systematic Risk
-Hybrid instrument
Tracking error S Created by pooling non-mortgage assets that is then resold to
0. Active strategy -~~~ + ANVRSEOrs’ X O Y B
1.~ Coincident indicator
. Lagging indicator

|

2

3

4. Convexity

5. Price value of a basis point |-
6. Gross Domestic Product

7. Consumer Price Index
8. Assct-backed security
9.
1

= SR L = e

Q2 (a) Explam the different types of leed Income Secuntles briefly. . (8)

Q2 (b) What are the I‘lSkS a55001ated w1th 1nvest1ng in bonds? (7
~ OR
Q2 (c) Define Fixed Income Secilrities- Explain its advantages and disadvantages. (8)

Q2 (d) Consider a five year, 10% coupon bond with par value of Rs. 1,000 on which interest is
payable annually. The reqmred return on the bond is 12%. Find the value of the bond.  (7)

Q3 (a) What are callable bond? Explam its advantages and disadvantages to the investor. @)
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Q3 (b) A 7% annual coupon putable bond has 2 years to maturity (Face value Rs. 100). “The interest
rate tree is shown in the figure below. Calculate the value of the bond today The bond is

putable at Rs. 100. e e ‘ (8)
Payment of par value Rs. 100 |- -
and Coupon of Rs. 7 N,
Interest rate =7.5% cor FrR g —
Coupon Rs. 7 _ S g 0
= 4% / Payment of par value Rs. 100
’ / : and Coupon of Rs. 7
Interest rate = 5% S G
Coupon Rs. 7 TN :
\ Payment of par value Rs. 100
SE and Coupon of Rs. 7
OR’ ~ < AEL
Q3 (c) Explain Convexity with diagram. : \5 “ 'b : R 5 @)
Q3 (d) Calculate the Modified Duratlon of the 3 year bond Rs 1 000 bond w1th 6% coupon and
with interest rate & YTM of* 5% S e SO S ‘ ol (8)
Q4 (a) Discuss the background of the Sub Prlme Cn51s B O @)
Q4 (b) What are Econom1c Indwators" Explam 1ts Types .‘ S .: ! ) < (8)
or
Q4 (c) What is GDP? How does it affect b&nd markets? %)
Q4 (d) Explain the 1mpact of subpnme crisis on Indlan Flnancxal Markets. ()
Q5 (a) What do you mean by Bond portfollo management strategy? Explain the bond investment
management process. P ®)
Q5 (b) Explaln Indexmg Strategy of Passive Portfoho Management N
: S OR
Q5. Write short notes on: (Any 3 Out of 5) (15)

(a) Fixed Income Market Partlclpants

(b) Putable Bonds

(c) Hybrid instruments -

(d) Junk Bonds ‘

(e) Collaterallzed debt obhgatlons (CDOs)
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